A 2 o & A

LEHS|H Dl Al M=t

Al A

SA: DlcHEAIM Skt
H: HZHO HATA AL
el SHATA 845 =X (St &)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hlunsz
OleHs Al M et 34,690,279 3,063,474 31,626,805
= 1,600,000 0 1,600,000
= 1,254,450 697,750 556,700
Al 31,835,829 2,365,724 29,470,105
AIZEO HATAl A4 2,794,270 774,270 2,020,000
& 90,000 90,000 0
Al 2,704,270 684,270 2,020,000
SHAEAl Edst =X 2,306,200 286,200 2,020,000
HAE HIOHIIE HE (HEI0IOHE)SSHMUESIC)(EX) 2,020,000 0 2,020,000
401 AlEHIZ 20| 2,000,000 0 2,000,000
01 AlEHI 2,000,000 0 2,000,000
O #4d HIOHIE 2
2,000,000,000& 14 2,000,000 0 2,000,000
405 KHaHE S| 20,000 20,000
01 AL EFH S| 20,000 20,000
O #A4 o= &2 ¢
20,000,000 * 14! 20,000 0 20,000
DRIOPDLIX #E OlHE Moty 2= & |4 5,146,320 1,814,420 3,331,900
= 1,600,000 0 1,600,000
s 1,164,450 607,750 556,700
Al 2,381,870 1,206,670 1,175,200
Olis AdE o 2= 2 |4 4,036,820 844,620 3,192,200
= 1,600,000 0 1,600,000
= 720,650 243,750 476,900
Al 1,716,170 600,870 1,115,300
WEE2HAH AML(RIEFIXE)(EX) 127,200 135,000 AT7,800
s 50,900 54,000 23,100
Al 76,300 81,000 24,700
307 212t01 & 127,200 135,000 27,800
= 50,900 54,000 23,100
Al 76,300 81,000 A4,700
02 QIZHBAAIHE X 127,200 135,000 A7,800
O Wse24AH 2.0
Z2& 127,200,000 127,200 135,000 A7,800
L= 50,900 54,000 23,100
Al 76,300 81,000 24,700
CXg 2R4SHI T4 (EX) 3,200,000 0 3,200,000
= 1,600,000 0 1,600,000
L= 480,000 0 480,000
Al 1,120,000 0 1,120,000
403 XX SHHSKH=01A 3,200,000 0 3,200,000
= 1,600,000 0 1,600,000
= 480,000 0 480,000




SA: OleHsa &=

ME: DRI HE DIYE AMY 22 U sS4
CHel DIRE AAE A 2R Y |4 (12l M2
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
Al 1,120,000 0 1,120,000
02 2| ZSOITHEH =R EAI ] 3,200,000 0 3,200,000
O CXg SRASEK =4
3,200,000, 00084 14! 3,200,000 0 3,200,000
= 1,600,000 0 1,600,000
= 480,000 0 480,000
Al 1,120,000 0 1,120,000
B I 1,109,500 969,800 139,700
= 443,800 364,000 79,800
Al 665,700 605,800 59,900
ARSI 2AXH (2N ) (EF) 859,500 659,800 199,700
= 343,800 264,000 79,800
Al 515,700 395,800 119,900
308 XHXIEHHIS Ol & 859,500 659,800 199,700
= 343,800 264,000 79,800
Al 515,700 395,800 119,900
13 2| 2SO THEHI AR S| EtAIRIH| 859,500 659,800 199,700
[ 24 S R0 Y O3l X
2 859,500,0002 859,500 659,800 199,700
= 343,800 264,000 79,800
Al 515,700 395,800 119,900
NENY g2 N 29 0 60,000 60,000
207 AP If | 0 60,000 60,000
ICEEET] 0 60,000 60,000
0 ADIEDRIZE AMARST AN
Y WY 2 25 08 0 60,000 60,000
S EEIENE] 26,565,760 380,360 26,185,400
PEEEEEEEAEEE 26,565, 760 380,360 26,185,400
DINFSIR 22 U NAFAAY B4 47 132,760 130,360 2,400
201 YLer2 | 52,440 52,440 0
01 Al222lH] 47,040 52,440 5,400
O gereg| 40,400 45,800 A5,400
O DIHESAIY 2 BT} S0l
2 5,400,000 5,400 10,800 5,400
R 222 5,400 0 5,400
[ S2J|2X2HE 20BHAAL 2
450, 0002 %72 3,150 0 3,150
[ S2olaXadE &2 9
250,000 2192 2,250 0 2,250
202 01t 10,320 7.920 2,400
01 =LHoIHI 10,320 7,920 2,400
O DR E 22
2 6,720,000 6.720 4,320 2,400
NSNS SN B2AAHETHAL (B E) 4,000,000 0 4,000,000
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WEERESEN,

(Rig Al

3 gEEWH2 =0t
el DIHAE D18 2 HEAY oA (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
401 AlZHIL 2] 4,000,000 0 4,000,000
01 Al 4,000,000 0 4,000,000
0 R2eclE FEae X3
4,000,000,000 *14| 4,000,000 0 4,000,000
NSHFLIISXNE2AAHELE AL (XHA) 700,000 0 700,000
401 AlZHIL S CHY] 700,000 0 700,000
02 Zell 700,000 0 700,000
O ReclEl Feaeg XI2AME Zel
700,000,000+ 14| 700,000 0 700,000
QUelEl A XYHH 24 (AZAZUHSII2) 650,000 0 650,000
403 NXIHMS A =201& 650,000 0 650,000
02 S| 2SO HStAIZ XS AN 650,000 0 650,000
O ZEA JIgsdE52 ZEA
650,000,000 * 14| 650,000 0 650,000
NSIMEIA SEEI =4 15,500,000 0 15,500,000
401 AlZHIL 2 CHY] 500,000 0 500,000
01 AlZHI 500,000 0 500,000
O 28 NSIMHIA SEEX ZgA
300,000,000 14} 300,000 0 300,000
O 38 NSNS E gAY
200,000,000+ 14| 200,000 200,000
403 MXISHHS 201N 15,000,000 15,000,000
02 S| 2SS 2 E AN 15,000,000 15,000,000
O 28 NSIAMEIA SEEX T &
=a 10,000,000,0002 * 14| 10,000,000 0 10,000,000
O 2 USAFEANSE gAY EXE
o 5,000,000,000& 14| 5,000,000 0 5,000,000
NSAtAEIA SEEA 015 Ot J18t ZHI 1,000,000 0 1,000,000
401 AlZHIL 2 0HY] 1,000,000 0 1,000,000
01 Al 1,000,000 0 1,000,000
O ASAtAHIA S8E ol Ot Jlgt 8
gl 1,000,000,000& *14] 1,000,000 0 1,000,000
NANEEELIIANS EAEAS (KAL) 500,000 0 500,000
401 AlZHIL 2 CHY] 500,000 0 500,000
01 AlZHI 500,000 0 500,000
O XSEHE SS2IIANEE FAFEAE
500,000,000 14} 500,000 0 500,000
HEI|2 LS LA (SIHAEXH) 2,373,000 0 2,373,000
308 XXM SOl 2,373,000 0 2,373,000
13 I 2SS SN A A 2,373,000 0 2,373,000
O A&EI12 HeE SAA
2,373,000,000& 14 2,373,000 0 2,373,000
2024 &= st UMW S8 I0ts !X 90,000 90,000
308 AXIHMSOIH 90,000 90,000
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3 gEEWH2 =0t
el DIHAE D18 2 HEAY oA (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
13 SII2SH eSS X A=A 90,000 0 90,000
0 2024 &= 0Hstd UM == 10I0ts =X
90,000,000 * 14| 90,000 0 90,000
CEXNALE AEE RA 22 20,000 0 20,000
401 AlZHIZL S CHY] 20,000 0 20,000
01 AlZHI 20,000 0 20,000
O SEXNALY A2 |X 2l
20,000,000+ 14| 20,000 0 20,000
CENZME =2 MAHX TAl2e|H= 8 150,000 0 150,000
401 AlZHIL 2] 150,000 0 150,000
01 Al 150,000 0 150,000
[ EENHMY =8 A SAZ2H =
= 150,000,000 14 150,000 0 150,000
20243 CEASTAl FEAL(SIHAEXZ) 600,000 0 600,000
307 2IZtolI& 600,000 0 600,000
02 UZHBMAIHE X 600,000 0 600,000
20248 S24STAl FEAY
600,000,000 14} 600,000 0 600,000
K-SEXZHEH F=H(IEEXH) 600,000 0 600,000
403 NXIEHMSA=201& 600,000 0 600,000
02 S| 2SO HStAZ XSRS A I 600,000 0 600,000
O K-EEXN2ME 2= £
600,000,000 * 14| 600,000 0 600,000
NESES L=l eSS 33,400 0 33,400
HSFAHFX 33,400 0 33,400
S Falges B 33,400 0 33,400
201 Let2aY| 24,400 0 24,400
01 At 2teltl 24,400 0 24,400
[ eS| 22,000 0 22,000
O Mg xd 28 245 212 A7 7o
22,0003 1002 %52 11,000 0 11,000
O M=oty 21 MetM =l
22,0002 1002 +52] 11,000 11,000
0 Sl 2,400 2,400
O Mefugxryd g2 =X
8,000 x3Z* 100! 2,400 2,400
202 0| 9,000 9,000
01 =0 9,000 9,000
O RECEIFday 2 ZAF & g% 82
80,0002 *3&* 102 2,400 0 2,400
O MHSXAHIA SEEHI 25 M | L
g4 8o 80,0002 *3% 102 2,400 0 2,400
O ASAt FSHAEd 820 I2 & SR
g9 80,0002 x3&* 102! 2,400 0 2,400
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